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SECTION - | anr -
MATHEMATICS afra
"I secx = 2then, —n% jsequalto |' UM secx =3 B @ —BX 7w
4 1+ tan?x 4 1+ tan®x
(A) 1/25 (B) 9/25 T
() 3/4 (D) 12/25 (A) 1725 (8) g/25
€ 3/4 (©) 12/25
2 f A=""and B=""thenA+Bis 2 IR A= AR p-*1AA+B T
x -1 x+1 x-1 x+1
(A) None of these ~ (B) 2(x? + 1) (A) @S =& ®2(x? +1)
(x—1)2 (x —1)2
9 2(x2-1) ) x241 ©2(x2-1) Dx? 4+ 1
x2 41 x2 -1 x2+1 x? -1

3. Value of 1 Radian is 3 1 AT FT AT T -

(A) 47°1517" (8) 60°30'15" (A) 47°15'17" (8) 60°30'15”
© 180° ) 57°17'45" © 180° () 57°17'45"

4 1f 15% of m = 20% of n thenm : n is 4 T m BT 5% = n BT 20% B, A m:n
(A) 16:17 (8) 17: 16 =
(©3:4 0)4:3 (A) 16 : 17 (B 17 : 16

€ 3 :4 D) 4 : 3
5. The median of the following distribution is 5. fop arferar @ wifaet &1 79 £
x|8|(5|6|10/9]|7]4 x|8/5[6[10/9]7]
fl6/a/5/8/9[4a]6 fle|[a]s5]8]9]a]6
(A) 8 (8) 9 A) g (8) g
(©) 10 (D) None of these © 10 D) N &

8 The total amount for a sum of T 400 for 3|6 7 400 & 3 af & fov 5% wEURY
years at simple interest at 5% per annum will affe =& & =% W B 9 I
be BT 2
(A) T 415 (8) T 412 a) ¥ 415 (8) ¥ 412
(€) T 460 (D) T 435 © ¥ 460 D) T 435

mll Ilil NI H lii - il
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"

1
If tan A= —— and tan B = /3 then cos A.

V3

cos B -sin A . sin B will be equal to
(A 0 (8) 1
2

(€) 1 (D) \/5/2

Distance between two lines
3x+4y—-9=0and 3x+4y+10=0
is

(A) None of these
(€) 10 units

(B) 9/5 unit
(D) 19/5 unit

Find the value of
V3 cos 23° -sin 23°
2
(A) tan 53°

(8) sin 53°

1 (D) cos 53°
2 Jis

(A) A natural number (8) An integer

(C) A rational number

(D) An irrational number

i 13
If cos A= % and cos B = % then cos (A - B)

"atan A= — IR tan B = y3 A

10.

1

V3
cos A. cos B- sin A . sin BT

A BT -

(A o (8 1
2

(© 1 (®) 3,2
a1 el 3x+4y-9=0 3R
3x+4y+10=0 & &7 It &
W) FE T8 (B) 9/5 THTS
© 10 g@Ts (0) 19/5 F&HIS
V3 cos 23° -sin 23°

2
P OAM &
(Altan 53° (B)sin 53°
(€) 4 {D)cos 53°
VIt

A te grpa T (8) U guie den
© e g e
) T Ay e

Hﬁ’cosA=;aﬁ?cosB=§Eﬁcos

is (A-B) %
(A) 1 (8) 13 (A) 1 () 13
98 98
o 1 (o) 18 o 1 (o) 18
2 49 ] 49
Page: 3
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12,

13.

14.

15.

16.

By selling a car for ¥ 72,000, a person made a| 12

profit of 20%. Then the cost price of the car is

(A) 90,000 (8) T 60,000

(©) T 80,000 (D) ¥ 70,000

Ifa:b=3:4andb:c=8:9,thena:cis 13,

(A)1:3 (B) 3:2

©)1:2 (D) 2:3

If 3 is the mean of n observations |14
n

Xy, X3, X3, .. Xy, then ¥'(x-x) is equal
i=1

to

(a) 1 (8) 0

(C) None of these (D) =

Distance between twao
(acos @,asina) and (acos B,a sin B) is

) ("

“ 2asin (a ; B) - 2acos (a ; B)

equal to
(A)

. fa+
Zasm(

LCM.of x* —9xand x? —2x—3is 16.

A x-3 @B » 4+ 3
© x(x+ 1)

© x(x+ 3)(x-3)(x + 1)

points 15.

UF A & SR BT T 72,000 ¥ g

20% o4 HAEl 8, & FR B HY oA
g

(A) T 90,000
(€ T 80,000

(B) ¥ 60,000
(®) T 70,000

AT a:b=3:43Rb:c=8:09

da:c?

(A 1:3 Bl 32

© 1:2 © 2:3

afe n e Xy, X3, X3, Xp Pl
n

M Y B A Fg-x) B AR
i-1

(A) 1 8 o

© ¢ = (®)

q Bl (acoswasina) IR

(a cos B,a sin f3) & 4 g e -

W_  a+ By (B a+ B
2a sm( ) 2acos ( )
2 2
(c) - (D) ~
2asin (a B) 2acos (a B)
2 2
¥ —9x AR 42_2, 3 BT LCM. ?
(A) x-3 (8) *r+ 3
© x(x+1)

© x(x+3)E-3)@x+ 1)

LT

Page:4
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17

19

20.

21,

What must be added in :% + 4y? to make
X

it a whole square ?

(A) 6x (8) 6y
v >
(e 12x (o) 12y
il x

The value of tan G + 9) - tan %" ¥ 9) is

(A) 1
© -1

(8) 2
D) O

ifa+b+c=11and ab + bc + ca = 20, then
thevalueof 23 + b?+ c3*-3abe

(A) 671 (B) 341

c) 121 (D) 781

Two supplementary angles measures
5x + 15%and 4x - 6% angle are

(") 120° 60° (8) 95° 85°

(© 100° 80° (D) 110°,70°

If one root of equation 2x2 — 10x+ P =0

is 3, then the value of P is
(A P=6 8 p=-3

©)pP=9 D)pP=12

If 2x+ y=35and 3x+ 4y =65, then the

-
value of = is

.

21.

SRR LR R R U

qg+ 9i¢ ?

(A bx (8) 6y
y *

© 12x o 12y
'y x

- tan (E+e) . tan (?’%e) Cal C i

4
(A) 1

(@

(8) 2
(D) o

A a+b+c=Mn3ARab+ bc + ca
= 20 B @ a3 4 b4+ c>-3abc B

HH -

(A) 671 (B) 341

© 121 D) 781

gy «q HON B AN

5¢ + 15°#w4y - 6° &I, a PN BT AF &
A 120°60° (B  95°85°

©  100°80° 0} . 410%,70°

AT TG 202 _10x+P=0 BT

qT 3B, AP & A9 ® -

(A) P=2s (B) P=-3
€ p=g @ p =12

AT 23+ y=35 AR 3x+ 4y=65 A 5

@l HIH9
(A) 2 (B) 3 (A 2 (8) 3
© 5 D) 4 € s (D) 4
Page: 5 477661
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2 If x +y=7and3x— 2y =11, then B AR y4y=7 AR 3x—2y=11 @
W x=2y=5®x=0y=3 | Wx=2y=5
© x=5y=5 0 x=5y=2 ®ly —0,y—3

Cx=5,y=5
D)y = 5,y=2

2. The sum of roots of the equation |2¢ THiHROT x2—-3x—28=0 + 'llqﬁ E
x2-3x—28=0is o &

(A) -28 (B) 4 (A) -28 (B) 4
0 - D
© -3 (©) 3 © s ) 3

25. The arithmetic mean of given data will be 25, 31‘?[3-,3‘; 67, 65, 71, 57, 45 ® HHW
67, 65, 71, 57, 45 Hreg BN T -

(A) 71 (B) 72 (A) 71 (B) 72
(c) 61 (D) 62 €l &1 (D) g2

2. The median of 15t ten prime numbers is . YO T IAUIeY U @ AT € -
(A) 12 (8) 13 (A) 12 (B) 13
(© 11 (D) None of these © 1 ) HF &

2. The length of a rectangle is 8 cm more than |27 7o IR & ovaTs Ia@T deE A 8
its breadth. If the perimeter of the rectangle cm 3f® B | 3T amga &1 9RET 68
is 68 cm, then its length and breadth is cm &, a1 SHS oTETs 9 drer
(A) 21 cm, 13 cm (8) 20 cm, 10 cm (A 29 em, 3 cm (B 20 cm, 10 cm
(©) 30 cm, 20cm (D) 25 ¢cm, 15 ¢cm © 30 cm, 20 cm ® 25 cm, 15 cm

28. A 100 m long train is moving at a speed of 60|28. U&% 100 ¥t o=} IS 60 km/h @t
km/h. Then the train will cross a signal pole in 9l ¥ 99N Ud Redad Oid B oy
(A) 10 seconds (8) 4 seconds 9T # UR B o 2
(€) 6 seconds (D) 3 seconds (A) 10 dHvg B) 4 WHvs

© 6 Yovs (D) 3 Japvg
28, cos 75° + sin 75° is equal to 2. 0s75° + sin75° BT HIF z
A 3 ® 1 A 3 (8) 1
3 2 e 2
© Vé (D) 1 © 6 D) 14
2 3
Page: 6
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%. In the given figure of circle with centre O, |3 fdu v g # gd @ I%
chord AB makes an angle of 8Q° with the| AB, &% W gp° B DU 9 E,

centre. Then £ APB is ZAPB ®

(A 40¢° (8) 100° @ 4q0° 8  100°
@ 140° ® 9@ @ 140° ®  gpe

31 In the Adjoining figure, DE || BC, then value |31. fd¢ ¢ = #, pg | Bc & x &1 A9 -
of xare

) 1 1 (D) 1 1
(©) 1 () 1 2 2
_11! = 1, —
2 2
% If loggm + logg é: g,thenmis equalto |* IX Jog,m + log, -é_—_ E @ m & HA
(A) 4 (8) 24 2
(© 12 (D) 18 (R) 4 (B) 24
) 12 () 18

477661



3. The value of cosec? 67°— tan223°is
equal to
(A) -1 (8) 1
0 (D) =

34. The number of 6 m cubes can be cut from a
cuboid measuring36 mx15mx8m is
(A) 25 (8) 10

(€) 15 (D) 20

35, xfy
If x¥= y*then (= is
y*then (%)
A (x/y) B 1)
(A) x\x/y (8) x(}_ 1)
X . 4 .
‘Cj x(;i‘ 1) ‘O] x(:’\;-Z)
36. : S
if sinB= = then the wvalue of
3sin?0—4sin®*0 -cosBis
(A) 1 8 1
2 2
[ o) 3
V2 2
37. 1f9:15::45: x, then the value of 1 is
(A) 75 (8) 3
c) 27 (D) 9
38 Three solid sphere, whose radii are 3 cm, 4

cm and 5 cm melted into a single sphere, its
radius is

ar.

38.

cosec? 67° — tan223° BT A1 &
(A) =1 (B) 4

€ o D) =

3 m x 15 m x 8 m YN dTel TAH
¥ 6 maR & fhad g9 B 1 WA

g7
(A) 25 (B) 40
€ 15 (D) 20

Aoy = yro@ () woA g

¥
A (x/v) B L
(A) x\ XY (B) x()' 1)
(€ 4% (D) x5
B )
afy sinB=—% B
3sin@—4sin®0 -cos P AT E -
(A) 1 (8) 1
2 2
(c) 1 | .
V2 2
e 9 : 15 : : 45 : B, WA BT WA
g
(A) 75 (8) 3
© 27 D) g

= SR Ml A B 3 em. 4 cm
AR 5 cm & 99 MNuder e aF
AT 910 ST & O Ut e &

(A) None of these (8) 9cm (A B & (8) 9 cm
(€ 6cm (D) 8cm © 6 cm (® 8 cm
Page: 8 477661



% If the line PQ is parallel to line BC of A ABC |3 Y& PQ, A ABC ¥ ¥ BC & WHI=R &,

then
A
P / > \ Q
B * C
W AP AQ 8 AB_AC
PB QC AP AQ
© AP _PQ () BC AB
AQ BC PQ AC

40. If @ , B are the roots of the equation |40

2x2 —3x+1=0. Then the value of

(A) 9/8 (8) 9
() 8/9 (D) 8

41 Sum of two numbers
difference is 11 then the greatest number is

(A) 5 (8) 10
(€9 (D) 16
42. If 7x:63=1:9,then xis 42,
(A) 1 (8) 2
€ -1 (D) 3

43. Find the average of first fifty natural numbers | 43.

is 21 and their|41.

al
A
P / - \ Q

B Y ¢

W AP _AQ (8 AB_AC
PB QC AP AQ

@ AP _PQ (b  BC AB
AQ BC PQ AC

M o, pIMBT 252 _3x+1=0 &
qed @, dl o3 4 g3 BT AT E -

(8 g

(o) g

(A) 9/8
(€ g/9

i a1 wEmst &1 AT 21 IR IR 1M

g, O 5 e 2

(A) 5 (8) 10
(€ g d) 16
A 70:63=1:9 A x &
(A 1 () 2
© _q (® 3

I YER WiPlae st &1 iea sa

(A) 21.55 (B) 25 & |
{€) 12.25 (D) 25.5 (A) 2155 (8) 25
(€ 12.25 (D) 255
Page:9 477661
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45

47.

If /27 = 16, then the value of n is
(A) 3 (8) 8
(c) 4 (D) 2
The value of
a b c

(a-b)(a—c) i (b—c)(b—a) + {c-a)(c-b)
is
(A) 2

© 3

(8) 0
(0} 1

If points (1,2),(x,-1),(4,5) are collinear,
then the value of x is
(A) -3

©1

(8) -2
(D) 2

The value of cos 15° — sin 15° is equal to

W 1 ® 3

V2 2
© 1 o) 1

3 2
Number of parallel tangents of a circle is
(A) 4 (B) o
€1 (0) 2
If cos 8 = i, then the value of tan 28 is
R ® _y3

K]
© 3 © 1
V3

45.

46.

47.

48

49,

Ifr 77 = 16, A n @ AT &
A 3 (B) 8
) 4 (o) 2
a b C

(a-b)(a—c) t (b—c)(b-a) Ls (c—a)(c-b)
& A B
(A) 2 (8 0
€ 3 (D) 14
Rk B (1,2),(x,-1) (4,5) TE 7,
AT BT A E
(A _3 ®
© 1 o) 2
cos 15° — sin 15° &1 AF & -
w1 8 3

vZ 2
o 1 o 1

3 2

?qﬂaﬁwwﬂéﬁm‘faﬁm

(A) 4 (8) »

) 1 (D) 2

zrﬁ‘*cosgzé.ehtan 201 ¥ 2

(a) ®  _3

=
V3

@ 3 0 1
V3

L
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5. sin (- 8)is equal to

% sin (-0) B A4 & -

(A) cosB (B) —cosB (A)  cosB 8 —cosB

©) sin@ (D) —sin® (© sin® ) —sinB
|
1
} !
|
|
E
[

Page: 11 477661
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51.

SECTION - 11
PHYSICS, CHEMISTRY & AGRICULTURE

Potassium chloride contains K-{(Approximate)
(A) 60% (8) 80%

(€) 70% (D) 50%

11|T1'[_II
Hdifte fagm, woga s o o

1. greflem FeiRge ¥ uReRrm @ ulkea

AT & (GIITHT)
(A) 60% (8) 80%
€ 70% (D) 50%

52. Which of the following compounds can be |52 HR & *AUSTer #§ vd-fibs & wy 3§
used as anti-freeze in car radiators ? a9 O e T fFar < adan g 2
(A) EthwaICUhOI (8) MEthlelCOhO] (A) W Wa’

(€) Ethylene glycol (D) Glycerine (8) gl Yoo
(©) ZATAAT TATSDHIeA
(©) R

53 Which of the following atoms would be s /g § & @9 W WA ALY
paramagnetic ? 2rm?

(A) Be (8) N (A) Be ® N
(© Ca (0) Zn © Ca ) 7n

54. Which physical quantity is constant for a|s. H&g # E‘{Hﬂ g STE ¢ ford e |
satellite in orbit ? Hifs a1 Rew =t & 2
(A) Angular velacity (A) ot 9 (8) Hvffg cgvor
(B) Angular acceleration (© o ddT7 (D) s St
(€) Angular momentum
(P) Kinetic energy

s5. “Pusha RH-10" is a hybrid variety of - “RIT JR.UGA0" Uh Haeul fHe @

(A) Bajra (millets) (B) Basmati Rice (A) groT (B) gHdl AT
(€) Wheat (D) Sugarcane (© ﬂé D) =7
Page: 12 477661
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. In the following figure the equivalent

resistance between ‘A’ and ‘B’ will be

30
30
A B
A 120 B 5Q
0 225Q ) 120

Which gas is used in Electric Bulb ?

(A) Carbon dioxide (B) Oxygen
(€) Helium (D) Argon
. IUPAC name of

PgC—?=CH—CH2—CH3
cl

(A) 2-chloro pentene-2
(8) 4-chloro pentene-3
(Q) 2-chloro pentene-3

(D) 4-chloro pentene-4

. The value of one Faraday charge is

(A) 96500 Coulomb  (B) 10° Coulomb

(© 3.7 x 10° Coulomb
0) 6.23 x 10?3 Coulomb

. A particle of charge ‘q’, mass ‘m’ and velocity

‘v, enters perpendicular to a magnetic field

‘B, force on particle will be

56.

57

60.

P ¥ A dR B & &t gerd wRRE

3Q
30
A B
w  12Q B 50
(€ 225Q (D) 120

gofde® e ¥ Wgaa @ W aret
g

(A) FHdT STgITRISS
(&) iR
© #fergq (D) 3t

Cl
B g . GO, a1 B -
(A) 2-FARY -2 (8) 4-FaiRT U=ENH-3
(O 2-FRI TH-3 (D) 4-FoIRT Ui-4

- s b faea snder &1 " @

(A) 96500 Poild (8] 106 PoAH

(© 3.7 x 10° gei

(P 623 x 1023 pei

vE & et aEw g, e omr
qAT AT 4y B, NI &F B & oHE@dq
T & | FOT W AW 9 &

(A) qVB (B) quB (A) qQVB ) qEVB
A m
© qmvB ® qVvB © gmvB ® qVB
Page: 13 477661
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61. When 10%* electrons are removed from a

neutral metal sphere, the charge on the

B1.

WE TH M A g A FETa
ford s € a et W g Bm

sphere becomes (A) 432 uC (8 —32 uC
(A) +32 uC (8 —32uC
© —16uC © +16 uC
(@ —-16uC (®) +16 uC
62 The correct order of Radii is 62 fyour &1 Ul &9 &
(A) N<Be<B A} N<Be<B
B FF<02<N3 B) F <0 2<N3
©) Na<Li<K @ Na<Li<K
(D) Fe+3 < Fe+2 < Fe+4 (D) Fe+3 < Fe+2 = Fe+4
6. In a 10 cm long horizontal wire, 5 Amp |&. U 10 I oW &R ar & 5 Wuwr
current is flowing. The mass of wire is gRT Jaifdd sk & | 9 9 el
3 X 103 kg/metre. What will be the field 3 x 103 fFmAt wFa gU 3 aR @)
to keep wire stable ? ReR v & forg &5 &1 99 8nm
(A) 588 x 107° Tesla downward (A} 58y x 10 <HAT A P AR
-3
() 0.6 x 107 Tesla upward ® 06 x 10-3 T FW B IR
(9] -3
588 X 107 Tesla upward © 5gg x 10-3 T TR A AR
(©) 588 x 107 Tesla downward
)  5gg % 10-3 <¥AT Hld Pl AR
s4. Phenol with dilute HNO, gives 8 T HNO, ® W i affbar &=
(A) Meta and para nitrophenol I HIET B
(8) Ortho and para nitrophenol (A) Fer 3R 9RT Argeiftheier
(€) Ortho and meta nitrophenol ®) ‘gl R GRT ATgebeTe
(0) Tri nitrophenol © ‘et SR Her ArggiEia
(0) oI5 Argeifbeiet
65 The metal that cannot displace hydrogen |65 ag a1 ST f& o eESEARS I A
from dilute hydrochloric acid FggoE 3 faenfia @€ o% gadl &
(A) Copper (8) Zinc (A) gfar 8 Rie
(€) Aluminium (D) Iron © vt (D) &Er
Page: 14 477661



66.

67.

A force is applied on a 6 gm mass (at rest) for
20 seconds. After it no force is exerted on it
and after travelling distance of 50 c¢m in5S
seconds, mass stops.

The amount of force in Newton will be

(A) 5 X 10~° Newton
B) 5 X 1073 Newton
A 02 x 1073 Newton

@) 0.2 x 10~2 Newton

66

-sm%mﬂsﬁu@(ﬁ?marm)
W TS dc1 20 AHvs & ford enrar & |
e ae o9 w o a0 T8 war
T 5 NBvS gvgrg 50 ¥ #H @
dABY P el 2 |

9 BT A g F e

(A) 5)(10"5%

@ 02 x 1073 =

©) 02 x 10 2

Work done during the expansion of a gas|67. vg 7 3 AYHEAT Rew g uw

from a volume of 4 dm?®to 6 dm?3 against

a constant external pressure of 3 atm is(1L
atm =101.32 J)

(A) -608 J (8) -304 )

(C) +304 ) (0)-61

pH value of 0.0001 M HC{ solution is
(A) 5 (8) 6

(c) 4 (D) 3

Little leaf disease of mango and brinjal is
caused due to the deficiency of
(A) Iron (Fe) (B) Calcium (Ca)

(©) Zinc (Zn) (0) Sulphur (S)

Length of a rod increases 0.2% on increasing
the temperature by 100 °C. The value of

coefficient of linear expansion of material of

rod
(A) 2x10-5 per °C (8) None

(€ 2x 107 peroc O 3 x 10-5 per °C

9.

70,

4385 W 636 T FaT ¥
amnanmwmammatm
= 101.32 J)

(A -608 ) (Bl -304 )

© +304 ] @ -6 )

0.0001 M Hc| fdeta™ &1 pH = &

(A) 5 (8) g

€ 4 (D) 3

G AR AT F B et et
A A BT R 9

A FIRT (Fe) (8) &feemm (Ca)

© i (zn) ®) e (S)

100 °C 9 9919 W g B =g 0.29%

9% Il ® | B8 & ot @7 Wy yar
TS BAI -

(A 2 x 105 soC

B 3 ¥ B T8

© 2x10*se°c ) 3x10-5 R °C

LUy

Page: 15
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72.

73

74,

75.

A cycle tyre bursts suddenly. This represents
an

(A) Isobaric process (8] Adiabatic process

(€) Isothermal process

{D) Isochoric process

How many electrons an atom have in M shell
whose atomic numberis 19 ?
(A) 6 (B) 1

(€ 8 (o) 7

Soils of Western Rajasthan have a high
content of

(A) Aluminium (B) Nitrogen

(C) Calcium (D) Phosphorus

A man can see upto 5 metre clearly. To see
clear upto 10 m, the focal length of lens will
be

(A) +20 metre

(€) +10 metre

(B) -5 metre

(D) -10 metre

Two springs with spring constants
K, = 1500 N/mand K, = 3000 N/mare

stretched by the same force. The ratio of
potential energy stored in spring will be

73.

74

5

refhel B TR @S Hedl § | UE

uftean gt

(A) Terd) ufpar (B SEre uisar

(© wwardt ufeear

(0) wHeRE wfshan
WWWWWwEQi
M P & geregE B

) 6 (8) 1

(c g (D) 7

Wi o @t el A e A

¥ g oA @
() Tegfatad (8) ST
(D) BFEPRY

(0 e

P A 5 deR B g0 TP WE "
THar & | 10 Hex 9% e w & ol
AATTF ol B BEU g4 el
(A) +20 Hex B _g et

© 30 HieX (0) —10 HreT

a1 fam Ree & Madis
K, = 1500 =z=/& T K, = 3000=z=/5

& 3 gue ad  Grar omar & | R
¥ vifyq Refw Sof &1 U BN

(A)4:1 (8)1:4 (A) 4 : 1 ) 1: 4
(1:2 @ 2:1 € 1:2 o 2 :1
76. 'Which of the following is an insulator ? % AR FATAD PHE ?
(A) Graphite (8) Aluminium (A) HEEE ® v
(€) Diamond (D) Silicon © &= (o) Ryfers
Page: 16
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78.

81.

The volume of a gas at 1140 mm of Hg
pressure and 546 °C temperature is 150 litre,

The volume of gas at S.T.P. will be
(A) 150 litres (B) 75 litres

(C) 750 litres (D) 100 litres

The metal which is found in the native state
(A) Al (B) Na

(@ Ca (D) Au

Accepting the definition that an acid is a
proton donor, the acid in the following
reaction

NH3 + Hzo = NHI + OH_ is

(A} OH™ (8) NH;"
i H,0 (®) NH4

= 238
The number of neutrons in 92U are
(A) 146 (8) 92
(€) 330 (D) 238

If velocity of light in airis 3 x 10°® m/sand
that in water is 2 x 108 m/s then what

would be the critical angle ?

(A) 3 (8) 2
sin™! (—) sin~? (5)

7.

78.

79.

140 Bt OR & T@ JA 546 c AT W

T &1 T 150 ofiex € | 599 G
A T4 W N FT ARG &
(A) 150 offex (8) 75 offex

€ 750 offex D) 100 wilex
?ﬁ?ﬂﬂl@:ﬂﬁ{ﬁa{m#mm
»

(A Al 8 Na
© Ca ®) Ay

Il 98 BT B O & deld gw
THAT & | 30 RN $ AR W
sfufrar § aar Bhm

NH; + H,0 = NH} + OH™

(A OH" ®  NHj
NH;

92U233ﬁ eHl B e @

(A) 148
(€ 330

P
A=

(©  H,0 (0)

(8) g2
(D) 238

AT T B AT A K 3 i 109 /e

T U H 2« 108 WA B, @ wmifas
DI BT FF BN
(8) ._1(2)
Sin ==

Yo (3)
sin 2

2 3
(o] 3 (D) 7
-1(2 -1(= (Q) 3 (D) 2
tan ™ (3) tan ™ (5) an (2) ant (%)
82. Number of moles in 180 gram of water is 82. Gl & 180 WH H Hied] @ W
(A) 18 (8) 10 (A) 18 (8) 10
(€) 100 (0) 1 € 100 (D) 14
Page: 17 477661
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87

An aqueous solution of Ferric chloride is
(A) Neutral (8) Alkaline
(C) None (D) Acidic

HR& FANES B ST fAaaT &
(A) IR (8) & ™

© Big el ) apciig

The order of radius of the nucleus of an atom | 8. s YIHY] % e & B @ @
is B '
A 107*m ® 107 m A  107*m ® 107 m
© 1072 m © 10 ¥m © 107%2?m ®  107%m
Which one of the following is the standard | 8. 4= H ¥ PF U TP U] GIHT &
for atomic mass ? oy W% 22

12 16 3 p
. C ™ 20 U ® o
© 1 (D) u

H b © 'y 0
Gobar gas contains mainly 8. Max v ¥ Jeaa: el &
(W C,H, (8 C,Hy W CH, () CyHyo
(€ CH, (®) C;Hg ©  CH, )  C,Hs
Balance the equation 87. oy B Gafera difod
9 4 5 9 4 12
4Be+ 2He—> GC-r...... aBe+ 2He—> E'C+. ......
(A) a-particles (8) B-particles A ooy (8) BT
(C) Positron (D) Neutron © G (0) ﬂﬁh
Which of the following is not a nitrogenous | 8. =T ¥ A B ASgeHgaT @e 8 87
fertilizer ? (A) qﬁm
A
(A) Urea (®) AR >
(8) Ammonium Sulphate (© >
(C) Super Phosphate () A ;
(D) Ammonium Nitrate

|
Page: 18 47766

HUNMRIEY



|
83. The material of permanent magnet has

(A) Low retentivity, high coercivity
(B) High retentivity, low coercivity
(C) Low retentivity, low coercivity

(D) High retentivity, high coercivity

90. Electrical conductivity of a semiconductor
(A) Decrease with the rise in its temperature

(B) First increases and then decreases with
the rise in its temperature.

() Increase with the rise in its temperature.

(D)Does not
temperature.

change with the rise in

91. Water falls from 100 metre height. What will
be temperature rise per kg of water due to
fall? (g = 10 m/sec?, specific heat of

water =4200 Joule/kg °C)
(A) 2.238°C 8 1.238°C

(© 0.0238°C () 0.238°C
92. Zener diode is used as an
(A) Amplifier (8) Voltage Regulator

(€) Oscillator (D) Rectifier

9. A sphere of 150 kg is kept on frictionless
surface. A bullet of 0.15 kg mass with velocity
200 m/sec strikes the sphere and stops. After
collision the velocity of sphere will be

8. W g e &1 Uerd g @

91.

(A = groreierar, S=a PanfRar
B) =g arvEferar, fre fFanfRar
@ = arvshean, = fanfaar
(0) =g gRvEfeal, 9w FAafear
foxit srd-arae @t fae@ arerear
A v gfg & W gedt & |

Bl gfg & WY vse d@d ¥ AW
Hedl & |

© a9 gfg & Wy qodt € |
(©) a9 gfg & wry wRafdfa & Bt &

100 WeX B Hag W wid R @ 2 |
R4l W iR W gwd iy e T
q feadt g9fy @ 2 (g = 10 m/sec?.
St I fafire SO - 4200 g/ oc)
(W 2238°C (8  1.238°C

(€ 0.0238 °C (b)  0.238°C

SR STNE BT SYANT ¥ -

(A) efipray & w9 §

® Ryg feise & g &

© Trerd & HT H

(0 fes & ®7 §

150 f&m &1 va e udor R TI@ W
@ ® | tF 0.15 fHm # Melt 200 FRy

EZC R S B 0 O i e
SR | CHFBY & UTIR Mo B AN

(A) 0.2 m/sec (B) 20 m/sec BT
(€) 2.0 m/sec (D) 0.3 m/sec (A) 0.2 ’ﬂﬂ# (8) 20 'lﬂ’ﬁg‘
@ 20 #9 (D) 0.3 HY
Page: 19 477661
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95,

o7.

Ammonia is commercially prepared by
(A) Ostwald process (B) Haber's process

(C) Contact process

(D) Lead Chamber process

The percentage of Calcium in CaCO; is
(A) 52% (B) 48%
(C) 20% (D) 40%

Modulus of rigidity of a liquid is
(A) Zero (B) Infinite

(C) Negative and finite (D) Positive and finite

Least count of vernier callipers is 0.01 cm.
Measuring the length of an object reading of
main scale is 2.7 cm and the fifth division of
vernier scale coincide with any division of
main scale. The length of object will be

(A) 2.75cm (B) 3.75em

(€) 4.75cm (D) 1.75cm

Which contain maximum no. of molecules ?
(A) 10 gm Hydrogen (B) 10 gm Oxygen

(€) 10 gm Nitrogen
(D) 10 gm Carbon dioxide

Two equal forces of 300 Newton each acting
at an angle of 60°, the resultant will be

(A) 155.3 Newton (8) 173.2 Newton
(€) None of these (D) 162.4 Newton

85.

a7.

98.

i @uRe wR W fEud gR
garft e & 2

(A) siregree fafr @) 29w faf

© preee AR © v =R (W

CaCo, ¥ Sfemm @ gfveaar &

(A) 52%
© 20%

(B) 48%
(D) 40%

foet ga & ford gaar Uiw ®
A IR (8) I~
(€ omrees AR diffa
) g 3R HHa

v affaR Sl &1 aegaHid 0.01 W
£ | T el avg @ g ANd W
T W B UGAE 2.7 WA AT T
affax &1 dfgar et e W & el
fer & @ § @ W | g9 @l
aarg el

(A 2.75 9 (® 375 W

© 475 ¥R 0) 175 9t
e % A afman v e € 2
(&) 10 T BTSZIOT

(B) 10 TTH AR

(©) 10 TTH ATgGIT

©) 10 TH B STFIATTRITS

w390 YeA d@ F A WEA Id W

5 WER go° W &, B GROT 7 B

(A) 155.3 =g (8) 173.2 =+
(© g9 | BI3 el

(©) 162.4 =

L
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100. A person travels towards North by 4 m and
then turns to West and travels by 3 m. The
distance and displacements from initial point

are
(A) 7mand 1m (8) 7mand 7m
() 5mand7m (D) 7mandSm

0UH I SR P AR 4

fhr 3 ey 9Raw & iR
IRfve fig A 9 T 5@
faemgs g

N
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